Audioband noisesource using resistor thermal noise (kT)
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Calculations for output noise density: (@298 Kelvin=25°c)

470k= 88nV/VHz x101 =8888nV/VHz x101 = 898 uV/VHz

10k = 13nVAHz x101 =1313nV/AVHz x101 = 133 uV/VHz

IM = 128nVAHz x1 =128nVAHz x101 = 13 uVAHz

Ul = 11nVANHz x101 = 1111nV/NHz x101 = 112 uVAHz @ 1kHz
Sum= V(8982 + 1332+ 132 +1122) =915 uVAHz @ 1kHz

21.484 Hz

Measured noise spectrum

Calculated output noise density : 915uVAHz @1kHz

Measured output noise density : 914uV ANHz @1kHz

*Note: the noise contribution of the 2nd stage is <0.01%
so it can be neglected here
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